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Purpose

The purpose of this study is to recalibrate the coefficients for the feeddown circuits at 150 Gev and and low beta. 
Part I  (Feeddown at 150 Gev)
1. After a dry squeeze, wait until the Tevatron has been on the front porch for at least 30 minutes before making these measurements. Use uncoalesced beam.
2. Correct the coupling by using Sq and SQA0 to get the tune split to about 0.003. (No need to decouple precisely.   Set the tunes to about 0.56 vertical and 0.58 horizontal. 
3. Measure the horizontal and vertical tunes on the proton helix, central orbit, and pbar helix for S1 set at the nominal current and at +/-3, +/-2, and +/-1 amps from the nominal current. 

4. Measure the horizontal and vertical tunes on the proton helix, central orbit, and pbar helix for S2 set at the nominal current and at +/-3, +/-2, and +/-1 amps from the nominal current. 

5. Measure the current needed in T:SQ and T:SQA0 to decouple the Tevatron to less than 0.002 on the proton helix and the pbar helix for S3 set at the nominal current and at +/-2, and +/-1 amps.
Part II  (Feeddown at collisions)

1. Take the Tevatron to collisions with uncoalesced beam

2. Measure the horizontal and vertical tunes on the proton helix, central orbit, and pbar helix for S4 set at the nominal current and at +/-30, +/-20, and +/-10 amps from the nominal current. 

3. Measure the horizontal and vertical tunes on the proton helix, central orbit, and pbar helix for S5 set at the nominal current and at +/-30, +/-20, and +/-10 amps from the nominal current. 

4. Measure the horizontal and vertical tunes on the proton helix, central orbit, and pbar helix for S6 set at the nominal current and at +/-30, +/-20, and +/-10 amps from the nominal current. 

5. Measure the current needed in T:SQ and T:SQA0 to decouple the Tevatron to less than 0.002 on the proton helix and the pbar helix for S6 set at the nominal current and at +/-30, and +/-15 amps.

